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ANDHRA PRADESH DEEGET - 2015

HELD ON 23-08-2015 - A

Answers are Circled in Red Colour

PART - I
GENERAL KNOWLEDGE AND APTITUDE TEST

1. Number of fundamental duties in Indian Constitution after 42nd amendment
in 1976 ....

(1) Ten

(2) Eleven
(3) Nine

(4) Twelve

157&6‘ 423 J06ey wScble S wsoﬁoé‘ PHE DGoe Sopg

@:ﬁﬁ

@) et

(3) &0
(4) Sets

2. Capital of Andhra Pradeéh state formed on 1st Sej:tember 1953 ....
(1) Hyderabad

(2) Guntur
(3) Kurnool
(4) Warangal

1058 whonts 15 B Dy wols Tge el Tegrd

iiiiiiiiii
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(4) HGeres
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The topper of Civil Services examination results of J uly 2015 ....
(1) Lakshmi Bhavya

(2) Renu Raj
(3) Nidhi Gupta
(4) Ira Singhal

P 20156° (BXelohedd &, oy PO’ BEss TNk JPoBO TS L

(2) Tewo ooE

(3) f 0§

200 Bovrd

The American who invented military submarine named ‘Turtle’ in the year
1776 ....

(1) Jacharian Jackson
(2) David Bushnel
(3) Sir Frank Whittle
(4) Michel Faraday

1775% Bobtto8’ 08 e oo PIY 2grobTRD SV SRIOT® DD cweveses
(1) [E0ahe PS5y

@b e0apd
(@)

(3)  HC Rk 288
(4 36 >ui

The year in which first Railway line was laid in India ....
PUBTERE TooesBootsel TSs WREe A0S BodByso
() 1844
(2) 1843

18563
(4) 1854

LE B o L % K 3% B % 1
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6. The primary factor related to pupils’ learning ....
(1) desire to do a big job.

(2) interest in the subject.
(3) teacher’s appreciation.
(4) parent’s appreciation.
Dritised’ eTRd Soweiiwlio B wosiw
(1) 2 &g Jaires, es. |
Dieosos ($D%) P eisd.
(4) ﬁ@ﬁ;@&ﬂ RO,

iiiiiiiiii

7. The pupil’s mishehaviour in the classrt}ﬂﬁl is to be ....
(1) checked immediately and involve him in the class work.
(2) note down and wait for a while.
(3) checked after a number of misbehavinurs._
~(4)  check immediately and mention it now and then.
BUND HOE® DN oy (G servensens |
@ Dotin ;B LBV BIKS B oo Dard.
(2) 550 DS Stosn) Ra ed.
(3)  emsssghnm H05PE (90h JMOed.

(4) Roesd JrBod eyttt TP Koty Dasrd.

8. When a pupil fails to understand what is taught, then the teacher has to ....
(1) attach him to the intelligent student.

(2) advise him to listen properly while teaching.
(3) advise him to go to tuition.
(4) make him to sit in the front bench.

5QoDS8 etio WeEoed® I wludihe PFodd SIFICING DA
| @ BOD Yo RS wd Baio.
O ® DYpptes TOM A WRRowEo.

(8) ergand Dyod Brdovio.

(4) Bwoo Bod Doss ¥rEBeyso.

iiiiiiiiii
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9. The best practice to get thorough with the difficult lesson.

(1) To repeat it as many times as possible.
(2) 'To conduct a group discussion on it.
(3) 'll’n write it ten times.
(4) To read it in the nﬂqrning time.
ERR00000 PO Hoeacmr aé-;;m&‘:m:aé &SRR,
(1) ;o000 FE ‘?"@:ﬁi.};w;igéc waeshise.

@ S a0 W) Soeyeas Sseshose.
(3) 9636 TOD Eabio.
(4) &8 JDooiTS WENEe.

L]

10. The purpose of organising Education Tour is to ....
(1) give maximum happinessl.:
(2) ;give first hand understandi ng.
(3) give freedom to express oneself.
(4) give scope to spend time w1th friends.

Do IR AEEFORED” ETH vernnees i
(1) e wihenrd) Soordanhio.

(2) oot [ed eonmdss dokie.

| B 955500BSNE0S ipRokxeio.

(4)  oood NESEHS enTHEioaiEo.
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PART - II (A)
GENERAL ENGLISH
11. The accident sadly resulted ......... the death of five persons.

Choose the suitable preposition that fits the blank.
(1) at

@ in
(3) for
(4) with

12. Could you lend me your watch ?
The above sentence expresses .......
@ A polite request.
(2) A polite suggestion.
(3) A permission.
(4) An agreement.

13. When I arrived in the city, I felt like a ......... olat of water.
Choose the word that best fits in the blank.
(1) prawn
(2) crab

@ fish

(4) snake

14. Choose the correct spelling.

@ Rendezvous
(2) Randezvous
(3) Rendezous
(4) Rendzous

15. Ramu saw a full-blooded cobra when he was going to college.
Choose the most appropriate meaning of ‘full-blooded’.
(1) intelligent
(2) bad
(3) - fast

strong

[6]
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16. Choose the word that is not a synonym of ‘glamour’.
(1) Attraction-
(2) Charisma
(3) Bewitchment

Arrogant

17. I had scarcely put the phone down when it rang again.
The meaning of the above sentence can be expressed as ....
(1) The phone rang so I put the phone down.
@ No sooner had I put the phone down than it rang again.
(3) IfI put the phone down, it rang again.
(4 If the phone rings, I will put it down.-

18. Vamsi said, “Are these books from America?”
Choose the correct indirect speech of the sentence.
(1) Vamsi exclaimed that these books are from America.
(2) Vamsi said if these books are from America.

@ Vamsi asked if those books were from America.
(4) Vamsi told that these books were from America.

19. Imagine you are writing a letter to your friend, Mohan.

Choose the most appropriate salutation for this.
(1) Dear Friend

(29 My dear Friend
(3) My dearest Friend

My dear Mohan

20. Getting a rank in any entrance test is an uphill task.
Choose the correct meaning for the idiom ‘uphill task’.

Difficult job

(2) _Easy job
(3) Working on a hill
(4) Very big hill

[7]
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PART II (B)
GENERAL TELUGU

) P O S—
(1) “ooiesso
‘b’_ﬁmtﬁm
(3) e
(4) ‘oo’

22, (EFGY - 50 DTDZ OYHO erieeen

(L Y
(2) oy

@)

(4) JpyEsEats

93. e " - U TEIFOBEO O TH invners
(1) RUSERShC

iiers!
(2) HPOS
(3) B89
(4) s

25. 0geS $BE 5VOB VO inieen
(D 10% dovge
(2) 11 8ergo

| 125 $ere0

(4) 13 %zrgo .
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26. HBEE’ & HIDHI e (O DEOBB.
(1) ‘e
(2x  God
(B) ‘g’

27. ‘zono’ ¥ HIPN TR
(1) zeo, Wb
Tl, oo
(3) &85y, &S0
4) Dy, Yo

28. iy BOPRS et
(1) =cie
(2) &

o

(4) es=™0

29. 59D By’ BASD TEtewoEsn
@ o
(2) esifoo
(3) engrdes
(4) esfEc0

30. 4% Doeise’ B B0
(1) " Seto
(2) &5vo

@gﬁﬁﬂ

(4) TEFeo
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1. EVBEFHE DTHOTOM Be Temd wses’ ST,
(1) ErEosoeahes
(2) @i}éﬁ;ﬁﬁ“uﬁam
(3 Bossdy

258858 S50

32, BB od DT TP KRGy B33y BB, ‘D00 30 A3 Jesdesw. 508
%30 BHIRD HoSHos BB’ - B ewozvoe.

(B &8s
(2) &Ry

@ Hmcﬁﬁmaﬁ
&

(4) ﬁgq'cﬁ::

33. ) woB%SD GTUBEINE ERoes’ D 3§ Eroe ¢Roio LAoWBEY. - e W
Eﬁaﬁ.

(,1& E‘éﬁ:’."&@ ﬁﬁﬂgém&
(2) Eﬁ!&g Ky

@ modd

(4) 2@

. , =

34, ‘wofurioty’ - B3 QT TG0
(1) 208 G3o0%), amisa
(2) 208 ciools o

2228 36 drdstes

(4) w00l L Tt

35, ‘wsce - 8IS %ed
(1 el Do

@ &8 900

(3) =385 Bel
{4} Eﬁ 5 :’JE@
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36. “HUzedd - Potmerdd 9l BENB - el ThoBRE?
(@) &&
(2)  Hoberss
(3) Beo
(4) No&oxrd

87. (HoNUol Dot ot BHBOED BOBTLIN BMHFREY - So SPeehs SO
FT0eE” DITTE?
(1) zopre Ty
(2) =TS Ty
(8) efong E‘ﬂa

BOPT Ty

88. oo BodPed SoTrTrores DEPBoBnEron’ - 38 D TEE0?
(1) 550 g
55,83 Tgido0
(3)  (BOWFUrS TS
4)  HoRR w0

39. “Serse D wlge Mewris’ — B+ Qg efo o Bio.
(D 3/
@ ety
(3 soge
(4) HBgooBos

40. ‘Srere’ - B B8 O
(D oPeso
- (2) e

b iete

(4) PHoe

[11]
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PART - II1I (A)
MATHEMATICS

41. The number of all subsetsof A= {1,2,3,5}1is....

A =112 3,5} % o o) & J00BOY D0y wereresss
(1) 4 |
2) 8

() 18

(4) 14

42. The volume of a cylinder, when its height ‘A’ = diameter ‘d’, is ....
0¥ :’::;;ﬁﬁ:: S0y, B ‘R = TR d’ @00id & BPEN00 SoRR0RIENN
(1) 4nr’
(@2 8nrd

@ 21_1:r3

4) 7re

43. sin%0 + cos’0 = .....
(1) tan®0-sec®®
(2) cot’0- cosec” 0

tan O xcot O

(4) sec xcosecO

(Space for Rough Work)
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of linear equations in two variables.

(1)
(2)
3)
(4)

Graphical Method
Model Method
Substitution Method
Deviation Method

Botis BETHowd® BP0 BhoNUETY BBt FHOWE GBAFACED HES (e
(1) CardpHss
(2) rud 9ud

(3)

BTG 35D

45. InaG.P,the 3rd term is 16 and the 10th term is 2048, then the 6th term is...

28 HOnEEE” 39 HGo 16 Hodatio 10 565835 2048 €005 6 DRI weeeeres

(1)

108

12

(3)
(4)

64
124

(Space for Rough Work)
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46. The mid point of the line segment joining the points (3, 0) and (x, y) is (1, 2).

Then x = ....
DoSasen (3, 0) $08ako (x, ) oo 5D Tgrgoiio Gk, Wofs Dotioy (1, 2) wossd
X = aaws
(n 1
@ 1
3) 2
(4) -2

47. Mode of the following data 5, 6, 9, 10, 6, 12, 3,6, 11, 10,12 is ...

!!!!!

208 ST LHTVIER cerninenne 5, 6] 9, 10, 6 12, 3,6 11, 10,12)
(1) 6

(2) 12

(3) 10

(4) 5

48. The angle between the tangents drawn to a circle at the both ends of it’s
diameter is ....

B TSR0 qﬁ:@_@@ Rogoedsd :f:gtﬁgﬁa::ﬂ 08 5980 wassssanss
(1) 90° |

(2) 60°

(3) 45°

w v

(Space for Rough Work)
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49. Which of the following is not divisible by “11” ?

Sob E° “11” B rAcHnEd Do

----------

1) 1Q725
@ {3431
(4) 23408

- 50. Number of symmetrical lines does a Square has ?

DBOBEROVD Mo PHTEI00 DOLg wereenenns
1
2) 2
3 3

(@) 4

51. Number of faces in a pentagonal pyramid s ...

----------

SOV BODE Glok, Boow Pog
(1) 5

2) 10

(3) 12

(@) s

(Space for Rough Work)
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The cost of a pair of shoes is < 450. The sales tax charged was 6%. Then the
bill amount in rupees is ....

.5 b wre $U T 450, E“;TJE:_ DEOWED whnfe T3y 6% escood D& 58% BIROIS
Dz BooBo ERFOUSE” .ivrsesens

CE

(2) 427
(3) 540
(4) 490

In a trapezium of area 48 sq. cms, one of the parallel sides is 5 ems long and |

the distance between the two parallel sides is 8 cms. Then the length of the
other parallel sideinem is .....

&5 Sdowewn BBUyme FFree 48 . V0. TP 88 FHFoBY ghwo PP 5 No..
H0B0K0 DO BEPOBY 4ePe Hog SIU0 8 0., ok Dot HRTCBY 4ok
e 202008 cuviienas ' |

(1)

4
@ 6
(@) 7

(4)

o

(Space for Rough Work)
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54. Marks obtained by stpdents of a class are tabulated below.
Marks 0-10 10 - 20 20 - 30 30 - 40 40 - 50
Students 3 5 11 6 5
How many students have got more than 20 marks ?
DoY) VGESE® .5 BOND ATPged FHODD BIBL0 FIdsD.
Bt 0 0-10 10 - 20 20-39 30 - 40 40 - 50

20 SRt ST oy BB B0 DEBoNt:?
(1) 8 -

(2) 16

{3) 5

22

55. Aletter is chosen from English alphabets. The probability of the letter being
a vowel or a consonant is ....

o) PRGN wETed’ &F oo CEPEUNECT® JHRETUD, & WE0 WYY, TR
ol Mo ﬁngﬂﬁﬁé

W 2.
@ %e
@ ¥gq

(W) 1

(Space for Rough Work)
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56. Graphof x + 2y =4is a....

(1)
(2)
(3)
(4)

Straight line
Parabola
Curved line
Circle

| @ $5T O

87.

(2)

pelopsTolovhle]

3) widy

(4)

PZe0

X+ 2y =4 G0, CTFVBO 28 ureraenne

Q. Booklet
Code

A

A right circular cylinder and a right circular cone have the same radius
‘v’ and same height ‘2’. The cone filled fully with liquid is poured into the

cylinder. What is the volume of the remaining empty space of the cylinder ?

23 Tgrgo T, M B Mo 28 [ HTTY AFBo, o¥ E HTTU BoX0D) &

PNR00TEe JoB?

oMo Dome o8 (EHHn BRowd IR By’ Fokm gesir WAy O F0%

(Space for Rough Work)
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58. 2-345 is a/an.... .
(1) Rational Numbher
(2) Natural Number
(3) Irrational Number

(4) Integer

59. Which of the following is not a Pythagorean triple ?
BISH TAE” DB Fdain (Bie THE?
(1) (5,12,13)
(2) (8,15,17)
(3 (3,4,5)

_ (10, 12, 16)

60. In AABC; D, E and F are the mid points of sides AB, BC and CA respectively.
Then ratio of the areas of the AABC and ADEF is .....
AABC & goeen AB, BC, CA © wagis Hodiopes Wt D, E $o0ci0 F. wosss
AABC, ADEF 3700 58 wwseureens
1) 1:2 |
(2) 1:4

4:1

@ 2:1

(Space for Rough Work)
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PART- III (B)
PHYSICAL SCIENCES

61. The vehicle which has more Inertia ...
(1) Bicycle
(2) Auto
(3) Car
(4) Bus

SEN W BlEE0 Ko TR0 ...
(L 236
(2) S
3 =&

62. The element having multiple valency is .....
(1) Phosphorous
(2) Magnesium
(3) Carbon
(4) Nitrogen

2TVE PNoddreES So ool
@ TR

(2) Dofijpaesse

(3) =50

4 S=S

-----------

63. Read the following statements and identify the situation where work is not done.
(1) Man lifting cement bags into a lorry.

(2) Girl pulling a toy car on the ground.
(3) Boy trying to push a huge rock in a playground.
(4) Porter putting luggage.into train.
B0l Ayeadiss T eRo HAD TAE® D Bo&tyed® B atNEE Kgoted.
(1) Saooew wfPeRo oBE°02 B0,
(2) RIITH00 ﬁa&?ﬁaﬁa 'ﬁ:ﬂ:.i ePIoe.
WO EM‘%&D@E Gy w8 TPOROUR Jews R,
(45 5P Farsovse Dood® e,

[20]
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The shortest shadow cast by a vertical object on the ground (the shadow
formed during the muid of the noon) always falls in the direction ....

(1) North East

(2) South West

(3) North South

(4) South Easf:

PP QISP GoBRED D DAY oY, @ BB JEPD @ (e
BITPETHO WY Dt ) JOBPEP & OF werereanes

‘1) =i le LSV

(2)  Bfpso DY

@ =2ate] ﬁﬁn{:

(4 GFese &Ly

Gold jewellery does not become dull, because ....
(1) its rate of reaction with air is less.

(2) it does not react with air. -
(3) more Copper is mixed to get shining.
(4) less Copjoer is mixed to get shining.
2I0TEH00 Dotk S6%%omr Goterdd Mo

(1) 833 mE& vo@mssn s5s.

38 mOE" ity atsss.
(3) B3 Jousip SV oyd TR Seoded.
(4) &3 Ioseiy 5% H% S A Keodes.

The force whicl occurs without any physical contact between two objects is ....
(1) Tﬂngentiaﬂ force |

(2) Direct force:

(3) Field force

(4) Resultant foirce

Toths BERDO Bols (RS 1507 Howolio BHOE BIBD LOBN werwee...

(1) %o weke

(2) (PO wonw

@ é@ﬁ RIS

(4) JOG webnw

[21]
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The metal used in coating objects made of iron in ‘Galvanizing’ is ...,
(1) Copper (2) Aluminium

(3) Silver (4) Zinc

ﬁ“ﬂ@éﬁnm pe) ZROD BYR '?éj‘“t’s. F)RleVbLILLEE é%’acﬂ:‘ﬁafb SN0
(1) od (2) wor@odabe

(3) Dod : 205

The shape of the concave mirror used in car head lights is/. ..

iiiiiiiiii

(1) Circular (2) Square

(3) Parabolic | (4) Cylindrical
S92 30 ey DO @0y WHEPSY BLETO TR wavecnnes
(1) oo (2) BSobEE

SO0 (4) 3o

The p_rinciplé used in swiping of ATM card through a scanner is ....

(1) Archimedis’ principle.

(2) Bernoulli’s principle.
(3) Principle of Electro-magnetic induction.
(4) Fermat’s principle.

ATM 59520 F968° 2 o Dotkoed’ 5256 & BPBHD cvrrens
(1) esOpRado SrBh0
(2) [P BFGH

DB o (U BB

(4) oS BoeE0

70. Tooth decay starts when the value of pH in the mouth is ...,

(1) lessthan 55 (2) greater than 5 .5
(3) less than 8.5 and more than 5.5 (4) greater than &.5

SoBFOIRN0 (PUogorves pH Qe

5.5 ¥o& B D

(2) 5.5 S0l
(3) 8.5 Nofl oW $o80% 5.5 KTy oy
(4) 8.5 Sof] Q_E-Jbﬁ

[22]
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PART - III (C)
BIOLOGICAL SCIENCES

71. One of the following does not relate to Xylem ....
(1) Elongated tracheid cells.
(2) Long sieve cells.
(3) Fibres.
(4) Parenchyma.

208 6" 2.5 DRI Do,
(1) &3S oobo Sereo

@ LS TN Koo
(3) Sotopes
(4) Hp&o Eevereo

72. TMC is used to express the total amount of water available in a reservoir. The
units of measurement of TMC is ....

(1) Litres
(2) Meters
(3) Yards
(4) Feet

2.5 Seoryoiob5R eoorrind” & Wl oy B.a0.%. o8’ BesHTetd. 8.a50.%. J SPeots
ESTSutar~ U R

) &uﬁ:ﬂ
2) Does
(3) Heew

esisalions

73. One of the following is related to AIDS treatment.
BoB S° w.%3 AIDS Tl DB VowoRelda.
() A

(2) ARV
(3) BCG
(4) OPV

[23]
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74. Vitamin ‘By’ : Riboflavin :: Vitamin ‘C’ : ....

(1) Cyanocobalamine
(2) Calciferol

(3) Ascorbic acid
(4) Tocoferol

DeaDo8 By’ 1 DERIN 12 D3R D’ £ wrererrsraresns
(1) ereod
(2) =908

O

(4) &SE=d

75. ‘Thalassemia’ is an inherited disease in human beings, which is related to ....
(1) Haemoglobin

(2) White blood cells
(3) Plasma
(4) Blood platelets

BPSDIE’ OB’ &0 BOTFTCHYs TP B8 HowePoRd.
(W) trariios |

(2) Bo S¥seren

@ T

(4) USHodsen

76. A student of 8th class collected hay and soaked it in pond water for 4 days. This
activity is done to study the growth of a ....
(1) Bacteria

(2) Virus
(3) Protozoan
(4) Fungi

DA SO DI JotoNED HE0oD TN DY IS oot Bares THBFR. T
50 OV 0PRAN wiioite Jaioesd &QAHLEDB.

(1) eecOosr

(2) D8

(3) ERSEWNS

. %&a@ﬁsz

[24]
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77. The plant which propogates through ‘stolon’ is ....

- (1) Onion (2) Strawberry
(3) Ginger (4) Dahlia
“Fo' T E‘é)a?u‘é;ﬂ 205 DoY), ...

(1) & @ Zob
(3 oo (4) =i

78. Identify the incorrect statement.

(1) Only some plant leaves can be used as green manure.
(2) Use of vermi-compost is far better than chemical fertilizers.

(3) Absorption of Carbon-di-oxide and evaporation of water takes place
through stomata in plants.

(4) After paddy cultivation, blackgram cultivation prevents Tungro virus
disease on paddy.

208 b 2563 BOAIHG S0, T oeSod.

(1) 50 Book,o estoess SPED0 53 Mo EBEAPAoBsRHBy.

(2)  rawn o weEo K HOHNT Ko Heode.

(3) oo HELore THT ThD-G-e8 Y5 [firod, D8R ND &0 PSS’ Hthise Do,
SO Jo BUH D00 Hots Vody HOS By eooiBERm BENHE’ otRty.

79. Examples of closed type circulation system among the following is ....

(1) Cockroach, Snail (2) Leech, Butterfly

(8) Octopus, Earthworm (4) Jelly fish, Star fish
208 Te3S° Soi)t BY (B30 WEIHE STUTTEIV0 rererseens

(1) &gk, ¥8 (2) esol, ST Deo
@ sS85, Tadvass (4) =d 3w, vye B

80. Most essential substance that is needed for the natural immunity in an infant.

(1) Triple antigen (2) Cow milk

(3) Colostrum (4) B.C.G. vaccine
BReEd YIS’ Bire TG ATHHBH0 BOBLD GTEIEE BIRGE e
(1 6398 escadBS (2) esiyy Pow
@ Hooftc e (4) D22 TS .
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81. The reason behind the enlarged size of ‘Greenland’ in the world map is ....

(1)

It is covered with ice.

(2) It isin the Polar region.

(3)

It has peculiar shape.

(4) Map makers have much attraction.
(501 Heatans® (S0l &3 et 5T YM BIDOVLEGIS Ko SR,

(1) o008 Bhed oo
@ EydEronand® Goten.

(3)

e35ed00 mb Q%QE@. :

(4) %Here SO0 e,

82. The mineral used for preparing ‘Stainless Steel’ is ....

83.

(1)
(2)
(3)
4

200080 8 BOXPs JoHEPA3 SHATACES Pt

L
(2)

©

(4)

(1)
(2)
(3)
(4)

Bauxite
Mica .
Chrome
Asbestos

ﬂ'ﬂg_ 3820
ST

L=

%%

Italy
Tanzania
Sicily
Equador

(oD asfly BB c S S,
|, o el

(1)
(2)

(@)

@)

2639
LPOETIOIT
200

%4%5;:'5
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84, Ocean currents are not caused by this factor.
(1) Centrifugal force.
(2) Effect of winds.
(3) Preclpltatmn
(4) Eclipses. '

- DHS EariFtes G 300 TEMe PO DERED.
(1) Eﬂﬁﬁn@ exese) |
(2) wHore PeRiso
(3) s |

85. The water dividing hills/mountains between the major peninz.ular rivers joining
the Bay of Bengal and small rivulets joining the Arahlan sea, are .
(1) The Nilagiris.

(2) The Aravallis.
(3) The We:stern ghats.
(4) The Vindhya and Satpura mountains.

womearsol’ 500 Oiste,; Hioek, <ODALR EhnEes” 500 O Hiook By Dgrms
Sorr &) 5otien [BETPO0 e

(1) . oeddsen

Z) esTudes

@ BAR0 Eosows

(4)  Dogr;, FEHT ST

86. The region where the ‘Snlar insolation’ is more .
(1) Japan
(2) Greenland
(3) England
(4) Bangladesh
STy DNONS D5 DT GO EPOBH® ...
(1) =
(2'} LﬁSﬁT‘GE

(3)  golexs

- BT BF
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8%7. The traditional Indian season ‘Sharad’ is related to these two months.
(1) March - April
(2) September - October
(3) July - August
(4) January - February .
oHTOK FRUBGH W5 watoRy) 1 Dotk oo Bowelodwd.

(1) S8y - pd

| @ Jgowd - ﬁgjutﬁq
(3) &% - ity
(4 w50 - $le9d

88. In 1906, the Muslim League was first formed at this place.
(1) Lahore
(2) Dhaka
(3) Lucknow
(4) Islamabad
19068 wasd0 Bt BooegBantser g%t Dovess Sokeda.
(1) o5%

(@)

(8) e8Y
(4) Parerd

89. The great person who gave the slogan ‘Chalo Delhi’ in March,1944 was ....
(1) Gandhiji :

(2) Nehruji
(3) Subhash Chandra Boseji
(4) Shastriji
1944 509)8° 4403 HXed! & TR G0N A% Vg3 weveunenn.
(1) mabd
(2)  Dwored
- @ Wogra, ol S5l
(4) =
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“The more closely your work abides by life in its form, so much the better
will it appear.” The person who said these words.
(1) Albrecht Durer

(2) Erasmus
(3) Michelangelo
(4) Leonard Da Vinci

“EDTERS Job SRS w0 5 &0l @b wob T dotnod.” - e Wy SPI.

£2)  Jdovhnoh
(3) Prous®
(4) QWE fors n-..'m;l

At the time of his coronation, this person was called as the ‘Citizen King’ in
France.

(1) Louis XIV

(2) Louis Philippe
(3) Louis XV

(4) Louis XVI

8" hoiteTy SPREVINES Do T T DT YRILESTES v
(1)  eror XIV

eFoar i

(3) _WWKV
(4) eroor XVI

Privy - Purses were given to one {}f the fnllﬂwmg persons.
(1) Zamindars.

(2) Princes of Princely states.
(3) Landlords. |
(4) Palayagaras.

‘TeRgiSrPey’ 84 (308 O w508 TohwdHd.
(1) zdsemrtoos
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‘Auschwitz’ was a kind of killing centre, where mass murders were done

was in this country.
(1) Germany

(2) Italy

(3) Iran

(4) Iraq

el K57, SOPERRAT Bross SEEIY) Soo, B TEes’ &odd.
@ 228y

(2) =

(3) 70

4y =908

On 4th May, 1919, an angry demonstration was held in Beijing to protest

against the decisions taken in ....
(1) The Rowlatt Act.

(2) The Versailles Peace Conference.
(3) The British Parliament.
(4) The Weimar.Republic.

1919 % 4 % DYofiS’® s AYoiresd ¥B05m BB HEG =0,
(1) Tod Heh |
@ 5330006 T8 VEFDEED
(3) (@ SYdooe
(4) %00 0505

‘Combined Harvester” does not perform this work.
(1) Harvesting the crop.

(2) Manuring the crop.

(3) Threshing the crop.

(4) Cleaning the grain from chaff.

oo 30! - T W VAL,
(1) woesso Safoeso.

@ Hoed DB Rakade.
(3) Voeids Wb Iakeo.

(4 SFBIFo Aom-Podio D8 Dokase.
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96. The reason behind the Government subsidies is ...
(1) the welfare of the people.
(2) the surplus income.

(3} for the benefit of leaders.
(4) for the future of the nation.

gt DG FEERs seiese.

‘ e Rogoo

canlioes esroioo
(3) roXwe a@?}ﬁa
(4) O% sy 5%

97. This would not be the developmental goal of a giﬂ from a rich urban family.
(1) as much freedom as her brothers.

(2) decision making about her future.

(3) rural life connected with primary sector.

(4) foreign education.

WeIED @*ﬂ&o@s&’a g Batavowrnd DodS @m&oasé 28 Eﬂﬁ)ﬁaﬂ of g© Lo SOLETFHL.
(1) - &5 Festod wsmsass S5,

(2) &5 B K00 Byl AT o.

&% Bolof Boweie o (Paoe £be.
(4) oot 2.

98. At present the number of Lok Sabha Gnnﬁtituenciés in Andhra Praldesh are ....
BgBn Uolg HRsS” &85y DT BT Vo

(1) 27

(2) 15

17

(3
25

-----------
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constitution which provides free and competent legal
ger sections of the society.

A)
(A)

3 (B)
39 (A)

DErred® DS, LT wore 03 &ls RO Bhaioe  esodotentis Teezegol

(1)
(2)
(3)

85 27 ()
552 37 (J)
TTal-telar 38 (8)

0553 39 (Q)

100. “The number of females in India has consistently been lower than that of men.”

One of the following statement reveals the present position of women in terms
of ‘Sex Ratio’.

(1)
(2)
(3)
(4)

Infanticide.

A hidden form of discrimination against women.

Women in higher positions.

Inequal opportunities in education and development.

“gPSS Ti0d” YURE Kol Myl Yo Bopg BE)HT E50.”

o (300 Te3E® 283 Dok B8 Howood Balrde 20 DOAL wgod.

B0 walerTen

@ @e: 3 BN JIZO

(3) &5 a:ﬁ@ﬂﬁs 00

(4)

$-815

Deg, PHRE® eiaTS SR
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